C:# Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 7-1= 2) 6 - O =
2.
3 20-12= ) 15-0= >
4
5) 18-1= 6) 20-8= >
6.
7) 15-8= 8 14-6= 7.
8.
9 19-9= 10 14-12= 0.
10.
11) 18-13= 12) 16-12= 11,
12,
13) 9-2= 14) 15-10= 13,
14,
15) 20-17 = 16) 19-17= 15,
16.
17 15-1= 18) 20-11= .
18,
19 19-0= 20) 19-1=

- - 19,
20

110 |95]90] 8580 75] 70] 656055 ] 50
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ﬂh Subtracting within 20 Name: Answer Key

Solve each problem. Answers
1 6
1) 7-1= 6 2) 6-0= 6
2 6
3 8
3 20-12= 8 4 15-0= 15
4. 15
5 18-1= 17 6) 20-8= 12 > L7
6 12
7 15-8= 7 8 14-6= 8 7 !
8 8
9 19-9= 10 100 14-12= 2 9 10
10, 2
11) 18-13=_ 5 12) 16-12=_ 4 11 o
12, 4
13 9-2= 7 14) 15-10= 5 13, /
14. )
15 20-17= 3 16) 19-17= 2 15, 3
16. 2
17) 15-1= 14 18) 20-11= 9 17 14
18. 9
199 19-0= 19 200 19-1= 18 i 19
20. 18

M th 1 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
a Www_Cc)mmor]COfeSheets_C()m 11-20(45(40|35|30(25(20| 15|10 5| O




JL_

Subtracting within 20 Name:
Solve each problem. Answers
3 18 9 8 4
10 15 8 17 14 1.
7 7 5 6 2
6 5 19 2 12 2.
3.
1) 7-1= 2) 6-0=
4.
3 20-12= 4 15-0= >
6.
5 18-1= 6) 20-8= 7.
8.
7) 15-8= 8) 14-6= o
10.
9 19-9= 10) 14-12=
11.
11) 18-13= 12) 16-12= 12
13.
13) 9-2= 14) 15-10= 14.
15.
15) 20-17= 16) 19-17=
16.
17.
17) 15-1= 18) 20-11=
18.
19) 19-0= 200 19-1= 19.
20.
M odified 1-10 [95[90]85]80]75]70]65]60( 55|50
[ M ath ] Www_Comn(])ocr:CloreSheets_C()m 1 11-20|45140(35(30|25|20(15(10|1 5| O




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1
1) 12-1= 2) 18-0=
2.
3 17-16= 4 17-9= >
4.
5 13-0= 6) 19-0= >
6.
7) 14-4= 8 20-1= 7
8.
9 11-0= 10) 11-10= 9
10.
11) 14-6= 12) 13-2= 11.
12.
13) 20-2= 14) 9-7= 13.
14.
15) 18-12= 16) 17-0= 15,
16.
17) 18-6= 18) 6-1= 17.
18.
19 5-0= 20) 17-5=

- S 19.
20.

110 [95]90] 8580 75] 70] 65] 60] 55 50

[ Math ] W CommonCoreSheets.com 2 11-20[45[40[35[30]25]20]15]10] 5 | 0




ﬂh Subtracting within 20 Name: Answer Key

Solve each problem. Answers
1 11
) 12-1= 11 2 18-0= 18
2. 18
1
3 17-16= 1 4 17-9= 8 >
4 8
5 13-0= 13 6) 19-0= 19 > 13
6. 19
7 14-4= 10 8 20-1= 19 7. 10
8. 19
9 11-0= 11 100 11-10= 1 9 11
10 1
11) 14-6= 8 12) 13-2= 11 11. 8
12. 11
13) 20-2= 18 14 9-7= 2 13, 18
14, 2
15) 18-12= 6 16) 17-0= 17 55 6
16. 17
17) 18-6= 12 18) 6-1= 5 17, 12
18. 5
19 5-0= 5 20) 17-5= 12 19 5
20. 12

2 1-10 |95]|90|85|80|75[ 70| 65[ 60|55 | 50

11-20145140|35|30|25|20(15|10| 5| O

[ M ath ] www.CommonCoreSheets.com




JL_

Subtracting within 20 Name:
Solve each problem. Answers
11 11 6 8 1
10 8 11 12 18 1.
17 18 12 5 1
5 19 13 2 19 2.
3
1) 12-1= 2) 18-0=
4,
3 17-16= 4) 17-9= >
6.
5 13-0= 6) 19-0= 7.
8.
) 14-4= 8 20-1= o
10.
9) 11-0= 10) 11-10=
11.
11) 14-6= 12) 13-2= 12
13.
13) 20-2= 14) 9-7= 14.
15.
15 18-12= 16) 17-0=
16.
17) 18-6= 18) 6-1= H
18.
19) 5-0= 20) 17-5= 19,
20.
M odified 1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50
[ M ath ] Www_Comn(])ocr:CloreSheets_C()m 2 11-20(45(40|35|30(25(20| 15|10 5| O




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1.
1 14 - 12 = 2) 16-0=
2
3 7-1= 4 18-12= >
4,
5 7-3= 6) 15-0= 5.
6.
7) 19-4= 8 5-4= 7.
8.
9 17-9= 10) 18-11= S.
10.
11) 5-3= 12) 18-2= 11,
12.
13) 13-6= 14) 7-5= 13
14.
15) 14-4= 16) 16-2= 15,
16.
17) 16-7= 18) 18-1= 7
18.
19) 20-5= 20) 13-7=

—_— E— 19.
20.

1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50

[ M ath ] www.CommonCoreSheets.com 3 11-20(45(40|35|30(25(20| 15|10 5| O
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Subtracting within 20 Name: Answer Key
Solve each problem. Answers
1 2
D 14-12= 2 2 16-0= 16
2 16
6
3 7-1= 6 4) 18-12= 6 >
4 6
5 7-3=_ 4 6 15-0= 15 > 4
6. 15
7) 19-4= 15 8 5-4= 7 15
8. 1
9 17-9= 8 10 18-11= 7 J 8
10. 7
11) 5-3= 12) 18-2= 16 11. 2
12, 16
13) 13-6=_ 7 14) 7-5= 13 7
14, 2
15) 14-4= 10 16) 16-2= 14 15. 10
16, 14
17) 16-7=_ 9 18) 18-1=_ 17 . 9
18, 17
19) 20-5= 15 20) 13-7= 6 19 15
20. 6
1-10 [95] 90 8580 75] 70] 65] 60| 55| 50
[ Math ] WWW.CommonCoreSheets.com 3 11-20{ 45 40| 35]30[ 25/ 20] 15[ 10 5 | 0




JL_

Subtracting within 20 Name:
Solve each problem. Answers
7 6 9 6 8
15 15 2 14 10 1
2 7 15 1 17
2 6 4 16 16 2.
3,
1) 14-12= 2) 16-0=
4.
I 7-1= 4) 18-12= >
6.
5 7-3= 6) 15-0= 7.
8.
7) 19-4= 8 5-4= :
10.
9 17-9= 10) 18-11=
11.
1) 5-3= 12) 18-2= 12
13.
13) 13-6= 14) 7-5= 14.
15.
15) 14-4= 16) 16-2=
16.
17) 16-7= 18) 18-1= 1
18.
19) 20-5= 20) 13-7= 10.
20.
Modified 110 [95]90]85] 80| 75] 70] 65] 60] 55 | 50
[ Math ] www.Comrr?gnlcloreSheets.com 3 11-20[45]40]35[30] 25| 20] 15| 10| 5 | 0
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Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 18-2= 2) 20-1=
2
3 11-9= 4) 15.6= >
4,
5 16-4= 6 20-2= 5
6.
7) 18-9= 8 19-10= 7
8.
9 17-7= 10) 18-0= o
10.
11) 20-11= 12) 14-3= 11.
12.
13) 10-8= 14) 9-7= 13,
14.
15) 18-15= 16) 10-3= 15,
16.
17) 18-12= 18) 12-2= 17
18.
19) 18-4= 20) 16-8=

—_— E— 19.
20.

1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50

[ M ath ] www.CommonCoreSheets.com 4 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Subtracting within 20 Name: Answer Key

Solve each problem. Answers
1 16
1) 18-2= 16 2 20-1= 19
2 19
2
3 11-9= 2 4 15-6= 9 >
. 9
5) 16-4= 12 6) 20-2= 18 > 12
6 18
7 18-9= 9 8 19-10= 9 7 9
8 9
9 17-7= 10 10) 18-0= 18 J 10
10. 18
1) 20-11= 9 12) 14-3= 11 11. 9
1. 11
13) 10-8= 2 14) 9-7= 2 13, 2
14. 2
15) 18-15= 3 16) 10-3= 7 15. 3
16. 7
17) 18-12= 6 18) 12-2= 10 . 6
18. 10
19) 18-4= 14 200 16-8= 8 19 14
20. 8

4 1-10 |95]|90|85|80|75[ 70| 65[ 60|55 | 50

11-20145140|35|30|25|20(15|10| 5| O

[ M ath ] www.CommonCoreSheets.com




JL_

Subtracting within 20 Name:
Solve each problem. Answers
11 2 18 8 10
3 9 9 6 14 1
16 9 18 12 2
19 9 2 10 7 2.
3.
1) 18-2= 2) 20-1=
4.
3 11-9= 4 15-6= >
6.
5 16-4= 6) 20-2= 7.
8.
7) 18-9= 8) 19-10= o
10.
9 17-7= 10) 18-0=
11.
11) 20-11= 12) 14-3= 12
13.
13) 10-8= 14) 9-7= 14.
15.
15) 18-15= 16) 10-3=
16.
17.
17) 18-12= 18) 12-2=
18.
19) 18-4= 20) 16-8= 19.
20.
M odified 1-10 [95]90[85[80[75] 70] 65] 6055 [ 50
[ M ath ] Www_Comn(])ocr:CloreSheets_C()m 4 11-20|45140(35(30|25|20(15(10|1 5| O
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Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 19-0= 2) 18-1=
2,
3 15-11= 4 19-8= >
4,
5 10-6= 6) 19-2= >
6.
7) 19-14= 8 20-5= 7
8.
9 16-0= 10) 13-7= 9.
10.
11) 12-1= 12) 20-1= 11.
12.
13) 19-4= 14) 8-5= 13.
14.
15) 16-13= 16) 10-1= 15,
16.
17) 5.3= 18) 16-10= 7
18.
19) 18-2= 20) 14-6=

_ _ 19.
20.

1-10 [95]90[ 8580 75] 70| 65] 60] 55 | 50

[ M ath ] www.CommonCoreSheets.com 5 11-20145|40(35(30|25(20(15|110| 5| O
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Subtracting within 20

Name:

Answer Key

Solve each problem.

1) 19-0=_ 19

3 15-11= 4

5 10-6= 4

7) 19-14= 5

9 16-0=_ 16

1) 12-1= 11

13) 19-4= 15

15 16-13= 3

17) 5-3= 2

19 18-2= 16

2 18-1= 17
4 19-8= 11
6) 19-2= 17
8 20-5=_ 15
10 13-7= 6
12) 20-1=_ 19
14) 8-5=

16) 10-1= 9
18) 16-10=_ 6
20) 14-6=_ 8

Answers
1 19
2. 17
3 4
a4 11
5, 4
6. 17
7. S
8. 15
9. 16
10. 6
11, 11
12, 19
13, 15
14, 3
15, 3
16. 9
17 2
18. 6
19, 16
20, 8

[ M ath ] www.CommonCoreSheets.com
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Subtracting within 20 Name:
Solve each problem. Answers
8 3 17 16 16
15 5 11 15 4 1.
3 2 19 19 6
17 9 6 11 4 2.
3
1) 19-0= 2) 18-1=
4.
3 15-11= %) 19-8= >
6.
5 10-6= 6) 19-2= 7.
8.
7) 19-14= 8) 20-5= o
10,
9) 16-0= 10) 13-7=
11,
1) 12-1= 12) 20-1= 12
13,
13) 19-4= 14) 8-5= 14.
15.
15 16-13= 16) 10-1=
16.
17) 5.3= 18) 16- 10 = H
18,
19) 18-2= 20) 14-6= 19,
20.
Modified 110 |95]90]85] 80| 75] 70] 65 60] 55 ] 50
[ Math ] www.Comrr?gnlcloreSheets.com 5 11-20[45]40|35]30] 25| 20| 15| 10| 5 | 0




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 19-14= 2) 17-2=
2.
3 17-3= 4 20-1= >
4
5) 20-4= 6 19-11= 5
6.
7) 20-14= 8 20-17= 7
8.
9 20-3= 10) 18- 16= 9
10,
11) 14-7= 12) 11-1= 11.
12,
13) 18-7= 14) 11-6= 13,
14,
15) 19-8= 16) 18-5= 15,
16.
17) 17-12= 18) 18-13= .
18,
19) 20-2= 20) 12-1=

- - 19,
20.

110 |95]90] 8580 75] 70] 656055 ] 50

[ Math ] W CommonCoreSheets.com 6 11-20{45[40(35]30| 25|20 15| 10| 5 | 0




ﬂh Subtracting within 20 Name: Answer Key

Solve each problem. Answers
1 5
1) 19-14= 5 2) 17-2= 15
2 15
14
3 17-3= 14 4 20-1= 19 >
4. 19
5 20-4= 16 6) 19-11= 8 > 16
6 8
) 20-14=_ 6 8 20-17=_ 3 b 6
8 3
9 20-3= 17 10 18-16= 2 0 17
10, 2
1) 14-7= 7 12) 11-1= 10 11. /
12. 10
13) 18-7= 11 14) 11-6= 5 13, 11
14. 3
15) 19-8= 11 16) 18-5= 13 15. 11
16. 13
17) 17-12= 5 18) 18-13= ) 17. 5
18. 5
19) 20-2=__ 18 200 12-1=_ 11 19 18
20. 11

6 1-10 |95]|90|85|80|75[ 70| 65[ 60|55 | 50

11-20145140|35|30|25|20(15|10| 5| O

[ M ath ] www.CommonCoreSheets.com
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Subtracting within 20 Name:
Solve each problem. Answers
18 5 11 10 5
2 5 6 13 7 1
15 14 17 11 5
8 3 19 16 11 2.
3.
1) 19-14 = 2) 17-2=
4.
3 17-3= 4) 20-1= >
6.
5 20-4= 6) 19-11= 7.
8.
7) 20-14= 8 20-17= o
10.
9) 20-3= 10) 18-16=
11,
11) 14-7= 12) 11-1= 12
13,
13) 18-7= 14) 11-6= 14.
15.
15 19-8= 16) 18-5=
16.
17) 17-12= 18) 18-13= H
18,
19) 20-2= 20) 12-1= 19.
20.
Modified 110 [95]90] 8580 75] 70| 65] 60 ] 55 | 50
[ Math ] WWW.Comrr?gnICIoreSheets.com 6 11-20[45]40(35]30[25]20[15]10[ 5 | 0




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 10-4= 2) 12-2=

2.
3 18-9= 4 19-2= >
4.
5 3-0= 6) 20-2 = 5.
6.
) 8-4= 8 13-0= £
8.
9 10-7= 10) 19-13= 9.
10.
11) 20-11= 12) 12-1= 11.
12.
13) 17-6= 14) 7-5= 13,
14.
15 10-8= 16) 19-10= 15,
16.
17) 14-7= 18) 12-4= 17
18.
19) 15-10= 20) 18-1= 19
20.

1-10 [95]90[85[80[75] 70]65] 60 55 [ 50

[ M ath ] www.CommonCoreSheets.com 7 11-20145|40(35(30|25(20(15|110| 5| O
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Subtracting within 20 Name: Answer Key
Solve each problem. Answers
1 6
1) 10-4= 6 2) 12-2= 10
> 10
9
3 18-9= 9 4 19-2= 17 >
4 17
5 3-0=_ 3 6 20-2= 18 > &
6. 18
) 8-4= 4 8 13-0= 13 7 4
8 13
9 10-7= 3 100 19-13= 6 9 3
10, 6
1) 20-11= 9 12) 12-1= 11 11. 9
12, 11
13) 17-6= 11 4 7-5= 2 13 11
14, 2
15) 10-8= 2 16) 19-10= 9 15. 2
16. 9
17) 14-7= 7 18) 12-4= 8 17 7
18. 8
19 15-10= 5 20 18-1=_ 17 o 5
20, 17
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
[ Math ] W CommonCoreSheets.com 4 11-20[45[40[35[30]25]20]15]10] 5 | 0




JL_

Subtracting within 20 Name:
Solve each problem. Answers
7 11 13 11 6
10 18 9 4 9 1
6 2 8 9 5
2 3 3 17 17 2.
3.
1) 10-4= 2) 12-2=
4,
3 18-9= 4 19-2= >
6.
5 3-0= 6) 20-2= 7.
8.
) 8-4= 8 13-0= o
10.
9 10-7= 10) 19-13=
11.
11) 20-11= 12) 12-1= 12
13.
13) 17-6= 14) 7-5= 14.
15.
15) 10-8= 16) 19-10=
16.
17.
17) 14-7= 18) 12-4=
18.
19) 15-10 = 20) 18-1= 19,
20.
M odified 1-10 [95][90[85]80[75] 70]65]60] 55 50
[ M ath ] Www_Comn(])ocr:CloreSheets_C()m 7 11-20145|40(35(30|25(20(15|110| 5| O




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 20-4= 2) 20-2=
2
3 19-3= 4) 10-5= >
4,
5 15-7= 6 14-7= 5
6.
7) 20-5= 8 16-3= 7
8.
9 7-1= 10) 16-12= S.
10.
11) 19-16= 12) 13-3= 11.
12.
13) 19-5= 14) 19-7= 13,
14.
15) 13-1= 16) 10-8= 15,
16.
17) 3-1= 18) 10-0= 7
18.
19) 19-1= 20) 15-9=

—_— E— 19.
20.

1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50

[ M ath ] www.CommonCoreSheets.com 8 11-20(45(40|35|30(25(20| 15|10 5| O




=

Subtracting within 20

Name:

Answer Key

Solve each problem.

) 20-4= 16

3 19-3=_ 16

5 15-7= 8
) 20-5= 15
9 7-1= 6

11) 19-16= 3

13) 19-5= 14

15 13-1= 12

17) 3-1= 2

19 19-1= 18

2) 20-2=

4 10-5=

6) 14-7=

8 16-3=

10) 16-12=

12) 13-3=

14) 19-7=

16) 10-8=

18) 10-0=

20) 15-9=

18

5

v

13

4

10

12

2

10

6

Answers
1 16
2. 18
3, 16
4 <)
5 8
6 7
7 15
8 13
9 6
10 4
11, 3
12, 10
13, 14
14, 12
15, 12
16. 2
17 2
18, 10
19, 18
20, 6

[ M ath ] www.CommonCoreSheets.com

1-10
11-20

95

90

85|80[75]|70|65]|60|55]|50

45

40

35|30(25|20|15|10| 5|0




JL_

Subtracting within 20 Name:
Solve each problem. Answers
7 12 8 4 12
10 5 13 2 16 1.
14 6 18 15 10
2 6 16 18 3 2.
3.
1) 20-4= 2) 20-2=
4.
3 19-3= 4 10-5= >
6.
5 15-7= 6) 14-7= 7.
8.
7) 20-5= 8 16-3= .
10.
9 7-1= 10) 16-12=
11,
11) 19-16= 12) 13-3= 12
13,
13) 19-5= 14) 19-7= 14.
15.
15 13-1= 16) 10-8=
16.
17) 3.1= 18) 10-0= 1
18,
19) 19-1= 20) 15-9= 19,
20.
Modified 110 [95]90] 8580 75] 70| 65] 60 ] 55 | 50
[ Math ] WWW.Comrr?gnICIoreSheets.com 8 11-20[45]40(35]30[25]20[15]10[ 5 | 0




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1
1) 20-1= 2) 18-13=
2.
3 14-10= 9 7.2= >
4.
5 20-5= 6) 11-8= >
6.
7 9-7= 8 20-12= 7.
8.
9 19-13= 10 19-1= 0.
10.
11) 19-0= 12) 20-19= 11.
12.
13) 14-9= 14) 16-2= 13,
14.
15 18-7= 16) 13-12= 15,
16.
17) 7-3= 18) 16-6= 17.
18.
19) 18-2= 20) 19-6=

- S 19.
20.

110 [95]90] 8580 75] 70] 65] 60] 55 50

[ Math ] W CommonCoreSheets.com 9 11-20[45]40]35[30] 25| 20] 15| 10| 5 | 0
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Subtracting within 20 Name: Answer Key
Solve each problem. Answers
1 19
1) 20-1= 19 2) 18-13= 5
2 5
4
3 14-10= 4 4 7-2= >
a )
5 20-5= 15 6 11-8= 3 > L
6. 3
N 9-7= 2 8 20-12= 38 K 2
8. 8
9 19-13= 6 10 19-1= 18 J 6
10. 18
11) 19-0= 19 12) 20-19= 1 11, 19
12, 1
13) 14-9= §5 14) 16-2= 14 13. o
14, 14
15 18-7= 11 16) 13-12= 1 15, 11
16. 1
17) 7-3= 4 18) 16-6=__ 10 - 4
18. 10
19 18-2= 16 20) 19-6=_ 13 19 16
20. 13
1-10195|90|85(80|75|70| 65|60 (55|50
[ Math ] W CommonCoreSheets.com 9 11-20[45[40[35]30] 25| 20| 15| 10| 5 | 0




JL_

Subtracting within 20 Name:
Solve each problem. Answers
5 16 5 5 2
10 19 18 13 6 1.
8 15 11 1 1
14 19 4 3 4 2.
3
1) 20-1-= 2) 18-13=
4.
3 14-10= 4 7.2= >
6.
5 20-5= 6) 11-8= 7.
8.
7 9-7= 8) 20-12= o
10,
9 19-13= 100 19-1=
11,
11) 19-0= 12) 20-19 = 12
13,
13) 14-9= 14) 16-2= 14.
15.
15) 18-7= 16) 13-12=
16.
17) 7-3= 18) 16-6= o
18,
19) 18-2= 20) 19-6= 19,
20.
Modified 110 95]90] 85|80 75] 70| 65] 60 55 | 50
[ Math ] www.Comrr?gnlcloreSheets.com 9 11-20[45]40|35]30] 25| 20| 15| 10| 5 | 0




JL_

Subtracting within 20 Name:

Solve each problem. Answers

1.
1) 16-0= 2) 16-15=

2
3 19-11= 4) g-1= >
4,
5 10-9= 6) 8-0= >
6.
7) 16-11= 8 16-1= 7
8.
9 16-10= 10) 9-0= S.
10.
11) 14-1= 12) 6-0= 11.
12.
13) 12-0= 14) 18-1-= 13,
14.
15) 16-7 = 16) 19-0= 15,
16.
17) 14-4= 18) 11-2= 17
18.
19) 18-11= 20) 14-0= 19
20.

1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50

[ M ath ] www.CommonCoreSheets.com 10 11-20(45(40|35|30(25(20| 15|10 5| O
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Subtracting within 20 Name: Answer Key
Solve each problem. Answers
1 16
1) 16-0= 16 2) 16-15= 1
> 1
8
3 19-11= 8 4 g-1= 7 >
4, /
5 10-9= 1 6) 8-0= 8 > L
6. 8
7 16-11= 5 8 16-1= 15 ’ 5
8 15
9 16-10= 6 10 9-0= 9 J 6
10. 9
1) 14-1= 13 12) 6-0= 6 11. 13
12. 6
13) 12.0= 12 14) 18-1= 17 13 12
14, 17
15) 16-7= 9 16) 19-0= 19 15. 9
16. 19
17) 14-4= 10 18) 11-2= 9 17. 10
18. 9
19 18-11= 7 200 14-0=_ 14 o y
20. 14
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
[ Math ] W CommonCoreSheets.com 10 11-20[45]40|35]30] 25| 20| 15| 10| 5 | 0
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Subtracting within 20 Name:
Solve each problem. Answers
17 19 5 16 9
1 7 9 6 9 1.
15 14 1 13 10
12 7 8 6 8 2.
3
1) 16-0= 2) 16-15=
4.
3 19-11= ) g-1= >
6.
5 10-9= 6) 8-0= 7.
8.
7 16-11= 8) 16-1= o
10.
9 16-10= 100 9-0=
11,
1) 14-1= 12) 6-0= 12
13,
13) 12-0= 14) 18-1= 14.
15.
15) 16-7= 16) 19-0=
16.
17,
17) 14-4= 18) 11-2=
18,
19) 18-11= 20) 14-0= 19,
20.
Modified 110 |95]90]85] 80| 75] 70] 65 60] 55 ] 50
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